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1. The cell organelle which is absent in neuroplasm is :

(A) Mitochondria (B) Centriole (C) Golgi body (D) All of the above

2. The points where myelin sheath is absent in a myelinated nerve fibre :

(A) Nodes of Ramvier (B) Axolemma (C) Synaptic knobs (D) None of these

3. Stato receptors are present in :

(A) Eye (B) Longere (C) Ear (D) None of these

4. Junction between two adjacent neurons is :

(A) Joint (B) Junction (C) Synapsis (D) Synapse

5. The box like bony structure which encloses the brain is called :

(A) Peritoneum (B) Periosteum (C) Pericardium (D) Cranium

6. CNS indudes :

(A) Brain (B) Spinal cord (C) Both of the above (D) Nerves

7. Sensations of pain, touch, speech are situated in :

(A) Cerebellum (B) Medulla (C) Cerebrum (D) None of these

8. _____ are cells, tissues which are capable of receiving particular stimuli and initiate impulses to be picked up

by sensory nerves :

(A) Effector (B) Receptors (C) Axon (D) Dendrites

9. The terminal branches of axon are called :

(A) Telodendria (B) Axon hillock (C) Neurofibrils (D) Nissl’s granules

10. Nissl’s granules are concerned with

(A) Cell division (B) Protein synthesis (C) Energy storage (D) None of these
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